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#(
x1 + x2 + x2 + x3) (

x1 + x3 + x3 + x5)
=

(
x1 + 2x2 + x3) (

x1 + 2x3 + x5)
= x2 + 2x3 + 3x4 + 4x5 + 3x6 + 2x7 + x8.
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� 4 × 4 = 16 	�����
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3 	�� (�, �) = (1, 3), (1, 3), (3, 1) �	��	�������
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x1 · x3 + x1 · x3 + x3 · x1 = 3x4.

������������
��������

��� 2 3 4 5 6 7 8

�� 1
16

2
16

3
16

4
16

3
16

2
16

1
16

�

�� 1 ��������
������
��������

1, 2, 3, 4�����
��������
����������

����������	��������	
�+��	�	


�	������	�,�
������	��%����

������	�����

�� 2 �������
��$���
�
��
�$���

�� 1, 3, 4, 5, 6, 8$���	
��
�$����� 1, 2, 2, 3, 3, 4

$�����������
���������������

���

2



1.2 ���������
�����

������
 (x + y)n �	��%���

(x+y)n = Cn
0x

ny0+Cn
1x

n−1y1+Cn
2x

n−2y2+· · ·+Cn
n−1x

1yn−1+Cn
nx

0yn
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���� Cn
k = n!

(n−k)!k!���	���� n �

��-�*���	� k ���-�
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(x + y)n+1 	��� x(n+1)−ryr �����

Cn+1
r 	�� (x + y)n+1 �� (x + y)n(x + y) ����� (x+ y)n 	

������ (x + y) ����	(· · · + Cn
rx

n−ryr + Cn
r−1x

n+1−ryr−1 + · · · ) (x + y)

= · · · + (Cn
r + Cn

r−1) xn+1−ryr + · · · .
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f1 = f2 = 1, fn+2 = fn+1 + fn(n ≥ 1).

������>�! 〈fn〉 ��)���	�����
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���H���� n ����
��0��
��	��	��

��
�� n �����������(��0��

0.9n < 0.5.

���#��	�

n(log10 9 − 1) < − log10 2.

�� log10 9 = 2 log10 3 = 2 × 0.4771 = 0.9542, log10 2 = 0.3010 	�

0.0458n > 0.301 ⇒ n > 6.572.
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����
�	��4�	�����	�������� P3 �

P5��*��	�

P3 =p2 +
(
C3

2 − 1
)
p2(1 − p)

=p2 + 2p2(1 − p);

P5 =p3 +
(
C4

3 − C3
3
)
p3(1 − p) +

(
C5

3 − C4
3
)
p3(1 − p)2

=p3 + 3p3(1 − p) + 6p3(1 − p)2.

�� 1
2 < p < 1��� −1 < 1 − 2p < 0 4

P3 − P5 =
(
p2 + 2p2(1 − p)

) − (
p3 + 3p3(1 − p) + 6p3(1 − p)2)

=3p2(1 − p)2(1 − 2p) < 0.
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